R9 R34 *
coM I 0.01 E E(%
R10
R23 0.99D
e 38 P
<2 e 1.7£200 o
A : mVEREH A100mVE H R B E
NPN cz1 EL) — —
e o B o P PATVR BR 28 BN #E99.9~100.12 [H]
HIBIFEN=EE i 50000 0] 2 10AREWHERS LG, M
3 S = L% c b le |e Jc |8 |E 3 %zoomA@,ﬁtjﬁﬂj‘#_tu %ﬁlﬁﬂgﬁfgﬁéﬁa%‘ﬁgﬁo
e . Rttt —3E Y HEEKR X
= chchLJxLéocLo&)é 06(36([ =[]z 56 B 45 5 Bl Y i R3S, B f200mALHHS B 22
O = US R vCC
T BTy e
"
4007 1 e | 20
COM S S2 N v s
R7
) 3kF 1CO vss|__|“
= ict BAT 32 LeDY N\DP1__
< ° ~oris /BV__ 31 | 1 Bp /] \DP2
- (B m VR1 | e N /2 2 oL /] §"’2—
- 1 A3 G3 29 A ] Rl
w? 201 c3 BPIGND ﬁ 28 s [\
o4 - 3
SO T —— = =l ==l
1 5] BUF B 23 B3/ 5 9 E2
oy 104 HF———3— 3 G2 — 1 DNoez
| e ==l o |\
9 E2 21
%? 2KPTC . 1,:; o ; :gg:‘ E2 M /gg 2| r—|—:| T Neet 3
‘f"ég atoky M [_I—M“ CREF- nI e/ -y I j e O
RS+ 00000 Lﬂ T a— var - I 6 a1 Noms 8
=& OOOOOOOO 0 T00K o — ] oen B [aer N e
E;-\-"F Q1 104 | INTEN o —BF /] MPS S
B 9013 — TEST Al [ 12 a1 /] 5
@E coM 101 5] 05 B1 __:1_2_ A
;uT\ 0SsC2 « _Q_D
Hp A eV DCA FTRE T — R o = —
_?§” . . D--0.3% vce
2 S éaéggﬁgﬁééégwgo <X 1%
mg_ SS52228R]R2xa 8IS J—
ﬁ‘dﬁ“‘: 5%

0¢



